Dec-MulDiv-L1 Answers Set1
Question 1 [25 marks] Question 2 [25 marks]
00 1.7x.7=1.19 0 .6x14=.84
1 1.2x.9=1.08 1 .9x.3=.27
2 .4x21=.84 2 1.0 x 1.8 = 1.80
321 x1.6= 330 3 1.2x20= 240
4 1.1x.8=.88 4: 1.6 x1.4= 22/
5 .9x1.1=.99 5 1.6x.7=1.12
6: .4 x.2=.08 6: D x1.7=.85
721 x14= 2.9/ 7. 1.5 x1.1=1.65
8 1.6 x .4 = .64 8 .6 xX.T= .42
9: 1.6 X .4 = .64 9: 1.9 x 1.8 =342
10: 2.0x 1.6 = 3.20 10: 1.3 x1.8= 2.3/
1: 1.3 x2.0= 2.60 1m: 1 x1.3=.13
122 1.1 x2.0=2.20 122 1.8 X .9 = 1.62
13 .0x0=10 13: .4x1.9=.76
14: O0x1.1=0 14: 2.0x .1 = .20
15: 1.4 x1.5=2.10 15: 1.0 X .7= .70
16: 2.0 x 1.1 = 2.20 16: .HD X .3=.15
17: 0 x1.0=10 17 1.9 x .5 =.95
182X . 7= .14 18: .3 X .2 = .00
19: 1.8 X .6 = 1.08 19: 1.6 x 1.9 = 5.04
200 1.0x1.9=1.90 20 1.9 X 1.8 = 3.42
21: 1.3 x 1.2=1.56 21: 1.0 x 1.4 = 1.40
22. 1.5 x 14 =210 22: 1.7x 1.1 = 1.87
23: .6 xX0=10 23: 1.8 x 1.1 =1.98
24: 1.5 x0=20 24: .1 x.1=.01
25: .9 x.9=.81 25: A x 4=.16
mul_0.0to1.2-0.0t01.2 mul_0.0to1.20.0to1.2
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Question 3  [25 marks] Question 4  [25 marks]

0. .bx.1=.05 0 1.9x.2=.38

14 x1.7=2.38 . .9x14=1.26

2: 1.3x0=0 22 4x 4=.10

3.6 x20=1.20 3:20x.9=1.80

4 1 x1.7=.17 4 4 x.2=.08

5 1.6 X 3= .48 5 1.7x14= 2238

6: .6 x.9=.54 6: .7 x.1=.07

. 1.7 x.1=.17 7 18X . 7= 1.26

8 2 X .7T=.14 8 1.2x.6=.72

9: 1.4 x1.8= 252 9: 2.0 x .3 = .60

10: 1.8 X .8=1.44 10: 1.8 x 1.5 =2.70

1: .9x 1.8=1.62 1: .6 x 1.0 = .60

122 0x1.6=0 122 1.2x .6=.72

13: .1 x20=.20 13: 1.2 x 1.7= 2.04

14: 0 x21=0 14: .1 x.8=.08

15 .3 X 1.8 = .54 15: 1. X .b=.75

16: 1.3 x.7= .91 16: 1.3 x 1.1 =1.48

17: 1.5 x 2.0 = 3.00 17: 2.0 x 1.9 = 3.80

18: 0x1.9=20 18: 2.1 X 1.7 = 3.57

19: .6 x 2.0 = 1.20 19: 1.7x 4= .68

20: .1 X .4=.04 20: .9 x 1.0 = .90

21: 9 X .8=.72 21: .1 x.1=.01

22. .3 X 1.2=.36 22: .3 X 2.1 = .63

23: .2 x1.6= .32 23: .3 X .8=.2/

24: 1.9 x.4=.76 24: .7 X .0 =.35

25: 1.0 x 1.1 = 1.10 25: 2.0 x 1.1 = 2.20
mul_0.0to1.2-0.0t01.2 mul_0.0to1.20.0to1.2
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Question 5 [25 marks] Question 6 [25 marks]
00 1.3x1.7=221 0: 2.1 x1.8=3.78
1 1.5x0=10 . .8x1.3=1.04
2 1.0x1.1=1.10 2. 20x1.9= 3.80
3 1.7 x21 =857 3 1.3x.9=1.17
4 1.1 x20=2.20 4: 1.0x1.2=1.20
5 20x1.3=2.60 5 1.7x14= 2238
6: . 9x14=1.26 6: .1 x.3=.03
7. .8x1.3=1.04 7. 21X 7= 147
8 1.0x 1.7=1.70 8: 20x1.1=2.20
9. .6 x 1.1 = .66 9: .2 x 1.7= .34
10: 1.4 x1.2=1.68 10: 1.8 x.9=1.62
1: .3 x 1.3=.39 1: 1.9 x1.0=1.90
122 .8 x 1.5 =1.20 122 2.0 x 4= .80
13: .9x1.1=.99 13: .7x0=20
14: 1.8 x 1.4 = 2.52 14: .6 x 1.6 = .96
15 .6 x 1.b = .90 15: 4 x0=10
16: 1.9 x .3 =.57 16: 1.bx.b=.75
17: .3 X 2.1 = .63 17: 2.0 x 0= 0
18 1.1 x0=10 18: 1.3 x1.8=2.34
19: 9x0=10 19: 8x14=1.12
20: 1.6 X 1.6 = 2.56 20: .9 x 1.1 =.99
21: 1.9 x .2 = .38 21: .8 X 1.b = 1.20
22: 1.6 x 1.9 = 3.04 22: 1.1 X .8 = .88
23 1.4 x .4=.56 23: .2 x 1.0= .20
24: .6 X .5 = .30 24: 1.8 x .1 = .18
25: Ox . 1=10 25: 0x 0= 10

mul_0.0t01.2-0.0t01.2 mul_0.0to1.20.0to1.2
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Question 7 [25 marks] Question 8 [25 marks]
0: .bx.9= .45 0 1.6 x1.2=1.92
1 .4x.2=.08 1: 2.0x1.9= 380
2. .Tx.4=.28 2. .8x1.6=1.28
322X 2.1= .42 3:0x.3=10
4: .4 x2.0=.80 4: 1.6 x 1.0 = 1.60
5 1.6 X 1.6 = 2.50 5 .8x1.5=1.20
6: .7Tx1.2=.84 6: .9x1.8=1.62
7.3 X 1.2=.36 7.9%x14=1.26
8 1.0 x 1.8 = 1.80 8 .6 x1.8=1.08
9: 1.0 x .3 = .45 9: 0 x . 7= 0
10: 2.1 x.5=1.05 10: 1.1 x14=1.54
1m: 2.1 x1.0= 2.10 1: 1.5 x2.1= 3815
122 .6 x.3=.18 12 .7TX .5=.35
13: 1.2 % .2=.2/ 13: .1 x14=.14
14: 2.0x .1 = .20 14: .3 x.9=.27
15: 1.1 x.9=.99 15: 1.0 X .5 = .50
16: .1 x1.3=.13 16: 2.1 x 1.2 = 2.52
17 9 X 7= .63 17 7 x 4= .28
18 1.8x0=0 18: 1.5 x .6 =.90
19: 1.2 x.6=.72 19: 1.3 x 1.7= 2.21
20: .6 X .1 =.06 20: 1.7 x 1.8 = 3.06
21: .3 X 1.9=.57 21: .8 X 1.7T=1.36
22: 2.0 x.9=1.80 222 9 x 0= 0
23: 1.2 X .2= .24 23: 9xX 1.7=1.58
24: 1.5 x1.3=1.95 24: 1.0 x 1.9 = 1.90
25: 1.2 x 1.5 =1.80 25: 1.9 X .2 = .38
mul_0.0to1.2-0.0t01.2 mul_0.0to1.20.0to1.2
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Question 9  [25 marks] Question 10 |25 marks]
0 .8x22=1.76 0: .2x99=1.98
1 1.3 x.8=1.04 1: 1.3 x10.3 = 13.59
2. 1.8 X 7.5 = 1350 2.4 % 9.7= 388
3. TxX75=20525 3 .8 X 87=0.96
4. 1.7 x 2.7=4.59 4 1.3 x.5=.65
5.1 X .8=.08 5 0x23=10
6: .1 xX7.6=.76 6: 1.3 x.2=.20
7. 1.3 X 3.8 = 4.9/ 7. .6 x25=1.50
8 1.8 x5.1=29.18 8 1.2x .8=.96
9. .5x0=10 9: 1.1 x3.9=4.29
10: .7 x2.8=1.96 10: 1.5 x85=12.75
1: 1.7x 1.1 = 1.87 11: .8 x99 =792
122 1.4 X 6.6 =9.24 122 1.0 x 9.7 = 9.70
13: 1.0x6.1=06.10 13: .7x104 =728
14: 1.5 x 9.0 = 13.50 14: .2 x9.0=1.80
15: 0x.9=10 15: .3 x 5.1 = 1.53
16: .1 x1.3=.138 16: 1.8 x 10.8 = 19.44
17 1.2 x 98 = 11.76 17: .6 X .5 = .30
18 .6 X 6.3 =378 18 0x.3=10
19: 1.3 X 9.8 =127 19: .6 X 6.3 =378
20: 0 x2.5=10 20: 1.4 x 1.8 = 2.52
21: 1.3 x 5.0 = 6.50 21: .7 X 87 = 6.09
22. .4 X .6=.24 22: 4 x9.1= 364
23: 1.0 X 10.0 = 10.00 23: .8 X 10.7 = 8.56
24: .2 x5.0=1.00 24: 1.7 x 6.5 = 11.05
25: .4 x 10.7 = 4.28 25: .2 x 1.3 = .20
mul_0.0t01.0-0.0t010.0 mul_0.0t01.0-0.0t010.0
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Question 11 |25 marks] Question 12 [25 marks]
00 1.1 x4.7=5.17 0: .6x79=4.74
1 .7Tx1.2=.84 1 .2x51=1.02
2. 1.5 x82=12.30 2.4 x82= 328
3 1.7x22=237 3 .7TxX6.8=4.76
4. 1.6 x10.1 = 16.16 4: 1.6 X 2.2 = 3.52
5 .0 x 10.1 = 5.05 5 1.0X7.7= 770
6: .1 x4.8= .48 6: 1.3 xX.6=.78
7. .9 x4.0= 3.60 7. .0 X 81=4.05
8 1.8 X 6.0 = 10.50 8 DO X27=135
9. 1.7x3.3=5.01 9: .9X 88 =792
10: 1.2 x10.6 = 12.72 10: .3 x10.6 = 3.18
11: .0 X 9.5 =4.75 1: .1 x .6 = .06
122 1.7 x 3.7= 6.29 12: .1 x10.0 = 1.00
13: .0 x 10.3 = 5.15 13: .4 x6.3=252
14: 1.9%x9.1= 1729 14: .8 X 8.2 = 6.56
15: . Ox0=10 15: .6 X 3.8 =228
16: .H X 9.0 = 4.50 16: 1.8 x 1.5 = 2.70
17: 1.1 x 10.5 = 11.55 17: 1.2 x9.5=11.40
18: .6 x10.3=106.18 18: .6 Xx.9= .54
19: .1 X 6.8 = .68 19: .7x.1=.07
20: 1.9 X 6.8=12.92 20: .D X 9.1 = 4.55
21: 1.2 X 7.9 = 9.48 21: 1.7 X .4 = .68
22: .0 X 9.2=4.60 22z 1.9 x 1.6 = 3.04
23: 1.8 X 8.0 = 14.40 23: 0X86=10
24: 1.6 x 84 = 1344 24: 1.4 x 10.0 = 14.00
25: 1.7 x 2.3 = 3.91 25 T X 6.2= 4.3
mul_0.0t01.0-0.0t010.0 mul_0.0to1.0-0.0t010.0
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Question 13 |25 marks] Question 14 |25 marks]

0: 1.0 x 7.5 ="7.50 0: 1.6 X .6 =.96

1 1.4x49=6.86 1 .3x91=278

2. .3x29=.87 2. .2 X 26=.52

3 1.7x5.5=209.35 3 1.8x6.9= 1242

4. 1.4 x84 =11.76 4 0x10.5=20

5 .8Xx7.3= 0584 5 1.4 %x6.6=9.24

6: 1.1 Xx6.7=7.37 6: 1.ox14= 210

7. 1.3x92=11.96 7. 1.8 x24=4.52

g .1 x1.6=.16 8 .9xbH9= 5731

9 .3 x 1.8= .54 9: .2x6.6=1.52

10: .3 X6.1=1.83 10: .8 X 9.8= 784

1: .6 X 7.8= /.68 1: 1.9x9.0= 1710

122 1.4 x 7.5 = 10.50 122 1.1 x.7=.77

13: 1.9 %X 3.6 =6.84 13: 1.5 X 5.9 =885

14: .8 X 6.5 =5.20 14: 7T x1.6=1.12

15: .3 X6.2=1.86 15 .8 X 2.7=2.106

16: .HDXT7.9= 25895 16: 1.2 x 2.0 = 2.40

17 .6 X 8.6 =5.16 17: .8 X 6.7 = 5.30

18 1.7x9.6 = 16.32 18: 1.7x7.1=12.07

19: 1.9 %59 = 11.21 19: 1.0 x .8 = .80

20: 1.7 X 2.6 = 4.42 20: .9 X 5.4 = 4.86

21: 1.4 X 6.2 = 8.68 21: 1.1 x 1.8 = 1.98

22: 1.5 x 5.0 = 7.50 22: 1.1 X 8.0 = 8.80

23: 1.3 X 6.4 =832 23: 1.0 X 7.2= 720

24: 3 X 3.8=1.14 24: 9 X 85 =765

25: 1.0 X 5.5 = 5.50 25: .7 X 3.0=245
mul_0.0t01.0-0.0t010.0 mul_0.0to1.0-0.0t010.0
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Question 15 |25 marks] Question 16 |25 marks]

0: 1.4 x9.7=13.58 0: .2x7.5=1.50
1. .8 X 83=0.04 1.3 x29=.87
2.5 x1.8=.90 2. 1.6 x 5.4 = 8.04
3 1.1 x2.6=2.80 3 .4x45=1.80
4: 1.7 x6.0=10.20 4 .0 x10.8=5.40
5 1.6 X 2.8 = /.48 5 .0 % 2.0=1.00
6: 1.9x3.7= 703 6: .3 x 1.4= .42
7. 1.9 x 2.4 = 4.56 7. 1.9 x.3=.57
8 1.6 x1.1=1.76 8 O XT79=2395
9: 1.3 x5.8= 7.4 9: 1.6 x 5.0 = 8.00
10: 1.6 x7.1=11.50 10: 1.1 X6.7=7.37
1m: 1.2x6.2= 1744 1: 1.4 x 2.6 = 3.64
12 1.7 x 84 = 14.28 122 0 X 7.6=10
13 .3 X .8=.24 13: .9 x87= 7383
14: .5 x 10.0 = 5.00 14: 1.0 x 1.8 = 1.80
15 .4 %X 9.7= 388 15: .3 X 8.5 = 2.55
16: 1.1 x10.8 = 11.88 16: .7 X 5.6 =392
17 8x1.4=1.12 17 3 x4.2=1.20
18: 1.7 x 10.8 = 18.36 18: 0x10.2=10
19: 1.4 x 4= .50 19: .8 x99 =792
200 1.7 x 4.4 =748 200 0 x84 =10
21: 9 x2.1=1.89 21: 1.5 X 89 = 15.35
22: 1.3 X 2.6 =3.38 22: .H X 8.4 = 4.20
23: .8 X 8.3 = 0.64 23: 0x44=10
24: 1.7 x 5.8 = 9.86 24: .1 x9.7=.97
25 A XT7.6=3.04 25: 0 X 8.6 =0
mul_0.0t01.0-0.0t010.0 mul_0.0t01.0-0.0t010.0
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Question 17 |25 marks]

0

1

2

10:

11

12:

13:

14:

15:

16

17

25

. .16 x .98 = .1568

. 1.14 x .62 = .7068

. .80 x .29 = .2520

. .07 x .81 = .0567

. 1.09 x .92 = 1.0028
. 61 x .16 = .0976

. 1.07 x .58 = .6206
03 x .05 = .0015
24 x A1 = .098)
A4 x 93 = 4092
42 x 61 = .2562
117 x 1.15 = 1.3455
03 x .95 = .0285
63X .75 = 4725
06 x .94 = .056/
35 x .90 = .3150

. 113 x 1.04 = 1.1752
. 1.10 x .27 = .2970
. .02 x .34 = .0068

. .89 x .45 = 4005
112 x .77 = .8624

. .07 x .96 = .0672

. 37 x .16 = .0592

. .88 x .30 = .2640

. 1.14 x .58 = .6612

: .02 x1.19 = .6188

mul_0.00t00.20-0.00t00.20

Question 18

0:

1:

10:

11:

12

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

.H4 %
38 X
44 x
DT X .
70 %
30 x
.06 x
46 x .
.09 x
15 X
A1 x
08 x .

111 x

33 X
.85 X
.54 %
26 X .
93 x
93 X
19 x .
.88 X

.35 X .
87 % .

93 x .

88 = 4752
91 = .9458
73 = .3212
04 = .0228
10 = .0700
85 = .2550
AT = .0282
94 = 4324
95 = .0855
42 = .3150
35 =.1435
19 = .0152
15 = .1665

46 x 1.18 = .5428

19 = 0627
23 = .1955
07 =.0378
25 = .0650
14 = .6882
A7 = 1581
09 = .0171
30 = .3080

95 x 1.02 = .9690

o8 = .2030
29 = 2523
84 = .7812

mul_0.00t00.20-0.00to0.20
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Question 19 |25 marks] Question 20 |25 marks]

0: .60 x .40 = .2400 0: .56 x .12 = .0672

1: .86 X .75 = .6450 1: B8 x .43 = .2494

2: .37 x .04 = .0148 2: .52 x .39 = .2028

3 .28 x .04 = .0112 3: .67 x .82 = .5494

4: .34 x .07 = .0238 4 .33 x 42 = 1386

5 .77 x .93 = .7161 5 .10 x 1.15 = .1150

6: 1.15 X .63 = .7245 6: .98 x .50 = .4900

7. .86 X .95 = .8170 7. .46 x 46 = .2116

8: 1.06 x .67 = .7102 8 .22 x .11 = .0242

9: .38 X 1.03 = .3914 9: .51 X .95 = .4845

10: .32 X .87 = .2784 10: .04 x .66 = .02064

11: .05 x .21 = .0105 11: .03 x 1.14 = .0342

12: .29 x .45 = 1305 12: 1.01 x .38 = .3838

13: .20 x 1.08 = .2160 13: .53 X .93 = .4929

14: .97 x .19 = 1843 14: .09 x .25 = .0225

15: 1.18 x .03 = .0354 15: .45 x .94 = 4230

16: .35 X .97 = .3395 16: 1.03 x .36 = .3708

17: .76 x 1.03 = .7828 17: 1.14 x .87 = .9918

18: .83 X .66 = .5478 18: 1.16 x .86 = .9976

19: .48 x .50 = .2400 19: .78 X .72 = .5616

20: .74 x 1.03 = .7622 20: .10 X .35 = .0350

21: .98 x 1.03 = 1.0094 21: .46 X .12 = .0552

22: .20 X .77 = .1540 22: .18 X .33 = .0594

23: .24 x A1 = .0984 23: .87 x 1.15 = 1.0005

24: .66 X .39 = .2574 24: .43 X .28 = .1204

25: .81 x .91 = .7371 25: .54 X .33 = .1782
mul_0.00t00.20-0.00t00.20 mul_0.00t00.20-0.00t00.20
019 7 September 2014 10
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Question 21 |25 marks] Question 22 |25 marks]

0: .88 x .91 = .8008 0: 1.08 x .56 = .6048

1. .38 x .15 = .0570 1: 1.18 x .26 = .5068

2. .84 x .11 = .0924 2: 1.08 x .61 = .6588

3: .95 x .82 = .7790 3: .20 x 1.08 = .2160

4: .71 x .70 = 4970 4: .30 x 1.00 = .3000

5 .99 x .89 = .8811 5 .90 x .37 = .3330

6: .21 x 1.00 = .2100 6: .61 x .46 = .2806

7. .63 X 1.01 = .6363 7. 1.00 x .82 = .8200

8 0x .59 =10 8 .98 x AT = .4606

9: .84 x .03 = .0252 9: 1.11 x .32 = .3552

10: . 17x0=20 10: .23 x .07 = .0161

11: 1.14 x .88 = 1.0032 11: 1.01 x .94 = .9494

12: .25 X .B7 = 1425 12: .03 X .14 = .074}2

13: .86 X .61 = .5246 13: .40 x .02 = .0080

14: 73 x .18 = .1314 14: .23 x 1.07 = .2461

15: .03 x 1.15 = .6095 15: 1.02 x .30 = .5060

16: 1.06 x .69 = .7314 16: .31 x .80 = .2480

17: .10 X .18 = .0180 17: .30 x .93 = .2790

18: .06 x .61 = .0366 18: .11 x .01 = .0011

19: .29 x .61 = .1769 19: .98 x .55 = .5590

20: 1.04 x 1.19 = 1.2376 20: .D7 X .92 = .5244

21: 1.01 x .04 = .040/ 21: .66 X .63 = .4158

22: .22 x 1.02 = .22/4 22: .95 x .60 = .5700

23: .96 X .72 = .6912 23: 1.03 X .52 = .5356

24: .83 X .92 = .7656 24: .29 x .42 = 1218

25: .10 X .29 = .0290 25: .67 X .94 = .6298
mul_0.00t00.20-0.00t00.20 mul_0.00t00.20-0.00t00.20
019 7 September 201 11
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Question 23 |25 marks] Question 24 |25 marks]

0: .86 x .18 = .1548 0: .34 x 1.02 = .3468

1: .80 x .81 = .6480 1: 1.16 x .26 = .3016

2: .19 x .80 = .1520 2: .74 x .60 = .4440

3: .63 x .90 = .5670 3: .30 x .27 = .0810

4: .84 x .51 = .428 4 .h2 x .32 = .1664

5 .07 X .77 = .0539 5 .62 x .28 = 1736

6: .82 % .71 = .5822 6: .01 x 1.10 = .0110

7. 77 x .70 = .5390 7. 49x0= 0

8 1.18 x 1.15 = 1.3570 8: 1.13 X .66 = . 7458

9: 1.09 x .21 = .2289 9: .99 x 1.06 = 1.0494

10: .28 x .37 = .1036 10: 1.02 x 1.12 = 1.1424

1: .49 x .26 = .127 1: 1.11 x .32 = .3552

12: .10 x .82 = .0820 12: .81 X 43 = .3483

13: .07 X .42 = .239 13: .73 X .61 = 4453

14: .36 x .57 = .2052 14: .82 x 1.03 = .8446

15: .80 x .11 = .0880 15: .05 x 1.17 = .0585

16: .63 X .61 = .3843 16: .17 x .34 = .0578

17: .26 X .17 = .0442 17: 1.14 x .50 = .5700

18: .91 x .96 = .8736 18: .47 x 1.04 = .4888

19: .99 x .10 = .0990 19: .D7 x .50 = .2850

20: .85 x 1.06 = .9010 20: .80 x .63 = .5040

21: .95 X .73 = .6935 21: 1.05 X .72 = .7560

22: .23 X .60 = .1380 22: .D3 X .31 = 1643

23: .07 x 1.02 = .581/ 23: .10 x .97 = .0970

24: .13 X .56 = .0728 24: .33 X .69 = .2277

25: .11 x .05 = .0055 25: .68 X .82 = .5576
mul_0.00t00.20-0.00t00.20 mul_0.00t00.20-0.00t00.20
019 7 September 2014 12
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Question 25
0: 2.9+ .8=3.62
1.1+-4=275
2. 2.0+1.0=2.00
32 0.2+.7="7T42
4 1.7T+.4=4.25
5 5.3+1.1=4.81
6: 1.6 =.8= 2.00
7. 23+1.0= 2.50
8 1.9+ .5= 2380
9: 25 +1.1=227

10: 26 +.7T=3.71
1: 3.3+ 1.1 = 3.00
122 0+4=0

13: 0.8+ .2 = 29.00
14: 1.3+1.1=1.18
15: 3.5 +.2=17.50
16: 4.1 +1.2= 341
17: 5.0+ .5 = 10.00
18: b.1+1.4= 3.64
19: 1.8+ .6 = 3.00
20 4.1 +12= 341
21: 5.7+.b=11.40
22: 24 +.4=6.00
23: D.7T+.4=14.25
24: 1.3+1.2= 1.08

25: 1.6 .7 = 2.28

div_0.0t05.0-0.1t00.5

25 marks]

Question 26
0: 3.0+1.0=3.00
1 1.8+1.2= 1.50
2. 1.7+ .3=5.06
331+10= 310
4: 5.7+1.0=5.70
5 3.3+.3=11.00
6: 2.1 +.9= 233
7. 4.5+1.0= 4.50
8 2.0+.4=106.25
9. 1.2+11=1.09
10: 5.7+.7=8.14
11: 5.9 +.7T= 8.42
12: 1.1+ .2=5.50
13: .0+.1=5.00
4. 9+ 8=1.12
15: 42+1.3= 3.23
16: .7+ 1.4=.50
17: 2.9+ 7= 4.14
18: 4.9+.9=5.44
19: 28 +1.1= 2.4
20: .7+1.3=.53
21: .0+ 1.3=.38
22: 1.8+ .5 = 3.60
23: 4.8 +.8 = 6.00
24: 3.3 +.7T=4.71
25: 3.2 +.4=8.00

div_0.0t05.0-0.1t00.5

25 marks|
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Question 27 |25 marks] Question 28 |25 marks]
0. 29+14=2.07 0: 2.0+.1=20.00
1 5.5+13=4.23 1: 49+13= 376
2. 4.6+.4=11.50 2: 43+ .8=5.37
339+.6=10.50 3221+12=1.75
4. 23+1.0=2.50 4 53+.1= 5300
5 1.5+.1=15.00 5 3.1+9= 2544
6: 3.9=.7=5.57 6: 1.6 =.7= 2.28
7. 1.8+.6 = 3.00 73.5+11= 3818
8 1.6 +.7=2.28 8 1.0=+=.7= 142
9. 49=+-8=10.12 9: 20+12= 2.08
10: 29+1.1= 2.63 10: 3.3+.3=11.00
1: 1.1+1.1= 1.00 11: 49+.5=9.80
122 39+ 1.1= 354 12: 5.8 +.2 = 29.00
13: 3.6 -1.3=2.76 13: 1.3+1.0= 1.50
14: 1.6 .8 = 2.00 14: 26 +.9= 288
15: 4.7+.9=5.22 15: 5.5+ 1.1 = 5.00
16: 4.7+1.2= 3.91 16: 5.5 +.3 = 18.33
17: 5.3+ .6 = 8.83 1. 1+1.1=.09
18: 4.4 +1.2= 3.60 18: 1.8+1.1= 1.63
19: 54+ .8=6.75 19: 2.8 +.1 = 28.00
20: 5.9+ .7= 842 20: 4.8 +.1= 48.00
21: .6+ .1 = 6.00 21: 2.2+ .8=2.75
22 2.7 +14=1.92 22: 2.9 +13=2.23
23: 1.1 +1.1= 1.00 23: .8 +.1=8.00
24: 2.0+ .4=5.00 24: 1.7+1.0= 1.70
25: 0+ 1.2= 41 25: 1.8 +.2=9.00
div_0.0t05.0-0.1t00.5 div_0.0t05.0-0.1t00.5
019 7 September 2014 14
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Question 29 |25 marks] Question 30 [25 marks]
0 .4+.1=4.00 0: 4.2+.7=6.00
1 1.2+.1=12.00 1: 5.2+1.0=5.20
2. 43+.6= 716 2 14+11=1.27
3:26+.6=4.33 3 14+.6= 233
4 0+.7=0 4 24+ .5=4.80
5 5.0+ .3=16.60 5 3.0+-.8=37
6: 24+1.2=2.00 6: 2.3+ .5=4.00
7..2+13=.15 7. 5.0+ .3= 1833
8 b1+12= 425 8 4+12= .33
9: 48 +14= 342 9: 3.8 +.7= 5,42
10: 34+.3=11.33 10 9+ .8=112
11: 1.9+ 8= 2.37 11: 25 +1.2= 2.08
122 b4 +14= 385 122 .4+ .4=1.00
13: 4.3+ .3=14.33 13: 2.3+ .8=2.87
14: .2+.6=.33 14: 1.9+1.0= 1.90
15: 1.1+.1=11.00 15: 5.9+ .8 = 7.37
16: 1.8 +.6 = 3.00 16: 5.1 +1.3= 3592
1 2.5 +.5=5.00 17: 4.3 +-1.0= 4.30
18: 2.6 -.7= 38.71 18 43 +.7=0.14
19: 1.3+1.0= 1.50 19: 1.2+ .3=4.00
20: 3.9+ .6 = 0.50 20: 3.4+ .4 =850
21: 5.4 +1.1= 4.90 21: 4.7+ .5 = 9.40
22: 4.1+1.0= 4.10 22: 1.1+.1=11.00
23: 3.8 +1.3= 2.92 23: 1.1 +1.3=.84
24: .3+ .3=1.00 24: 3.0+ .3 =11.66
25: 4.2 +1.1= 3.81 25: 2.0 +.4 = 5.00
div_0.0t05.0-0.1t00.5 div_0.0t05.0-0.1t00.5
019 7 September 2014 15
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Question 31 |25 marks] Question 32 |25 marks]
0: 1.b+.9=1.66 0: 4.6 +.3=15.33
1 25+13= 192 1 1.7+-1.0=1.70
2. 5.7+.9=10.33 22 1.1+1.0=1.10
3 .2+.7=.28 3:0.0+1.1=4.954
4 53+ .6=883 4 10+9=1.11
5 .4+14=.28 5 1.2+ .6=2.00
6: 4.2+.9=4.66 6: . 4+1.3= .30
7. 1.6+.9=1.77 7. 48+ .8=6.00
8 b6+ .3= 1860 8 23+1.1=2.09
9: 3.2+ .3=10.66 9: 23 +14=1.04
10: 3.4+1.0= 340 10: 5.7+ .3 = 19.00
11: 9.0 +1.0=5.50 1: 4.1 +.1= 41.00
122 1.9+ 4= 475 12: 43+ .7T=0.14
13: 3.9+ .4=975 13: 2.6 +1.3= 2.00
14: 2914 = 2.07 14: 4.5+ .8=5.02
15: 3.2+ .2 = 16.00 15: 3+.4=.75
16: 1.5 +.2= 750 16: 2.5 +.2=12.50
17: 3.1 +1.0= 3.10 17 4.4+ .4=11.00
18: 5.9+ .8= 737 18: 4.3+.9=4.77
19: 1.1+.9=1.22 19: 44+ .5=8.80
20: 3.8+ .3 = 12.66 20: 2.0 +.9=2.77
21: 1.4+ .1 = 14.00 21: 3+ 1.3=.23
22: 5.8 +.7= 8.28 22: 4.7+ 1.1= 4.27
23: 4.8 +.7T= 6.85 23: 4.2+ .3 = 14.00
22: . 1+12=.08 24: 5.3+ .50 = 10.60
25: 5.2+ .4 = 13.00 25: 3.9+ 1.1= 3.5/
div_0.0t05.0-0.1t00.5 div_0.0t05.0-0.1t00.5
019 7 September 2014 16
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Question 33 |25 marks] Question 34 |25 marks]

0 2.35+ .11 = 21.3636 0: 1.20 = .58 = 2.0689

10 3.40 + .34 = 10.0000 1275+ 1.01 = 2.7227

2 70+ .79 = 8860 2 28+ 44 = 6363

3 145+ .17 = 8.520) 3 1.08 = 1.00 = 1.0800

1 34+ 31 = 1.0967 & 491+ 11 = 44.6363

5 5.63 + .25 = 22.5200 5 3.68 + .30 = 12.2666

6 5.08 + .54 = 9.407 6 5.70 + .21 = 27.1428

7 234+ 44 = 5.3181 7. 210 = .78 = 2.6923

s 3.02+ .14 = 21.571 5. 5.65 + .25 = 22.6000

0. AL+ .13 = 3.1538 0. 17+ .32 = 5312

10 5.95 + .74 = 8.0405 10 2.76 + 55 = 5.0181

1 5.35+ .71 = 7.5952 1 4.87 + 84 = 5.7976

12 3.10 + 81 = 3.8271 12 .89+ .74 = 1.2027

13 131+ .13 = 10.0769 13 3.05+ 54 = 5.6481

14: 2.73 + .15 = 18.2000 14 3.97 + .33 = 12.0303

15 2.76 + .05 = 55.2000 15 4.70 + 54 = 8.7037

16 5.07 + .68 = 7.4558 16 4.25 + 54 = 7.8703

17 178+ .23 = 7.7391 17 241+ .80 = 3.0125

15 1,67+ .77 = 2.1688 15 2.64 + .85 = 3.1058

10 4.45 + .36 = 12.3611 19: 3.65 + 1.04 = 3.5096

2. 4.93 + .38 = 12.9736 20, 4.87 + .77 = 6.3246

21 2.00 + .17 = 12.291 21. 34T+ .03 = 115.6666

2: 2,10 + .18 = 11.6666 2. 5.73 + 31 = 18.4838

2. 2.80 + 1.04 = 2.6923 25 119+ .12 = 9.9166

2: 3.02+ .07 = 43.1428 21 3.91+ .75 = 5.2133

25 3.00 + .01 = 300.0000 25 5.21+ .06 = 86.8933
div_0.00t05.00-0.01t00.05 div_0.00t05.00-0.01t00.05
019 7 September 2014 17
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Question 35 |25 marks] Question 36 |25 marks]

0: 5.06 = .63 = 8.0317 0: 3.16 +.90 = 3.5111

1 1.25 + .02 = 62.5000 1 53+ A8 = 1.1041

2 2.81+ 1.00 = 2.8100 2 215+ .31 = 6.935

3 4.83 .70 = 6.9000 3 5.80 + 42 = 13.8095

4 2.65+ .62 = 4.2741 £ 111+ .98 = 1.1326

5 435+ .73 = 5.9589 5 345+ .15 = 23.0000

6 5.78 + .42 = 13.7619 6 2.29 = .04 = 57.2500

7 3.20 +.90 = 2.5555 7. 164+ .94 = 1.7446

s 4.58 + 87 = 5.2643 s 5.00 .19 = 26.3157

0. 1.58 =+ .57 = 2.7719 0 2.60 + .31 = 8.3870

10 112 + .62 = 1.8064 10 4.52 = 1.02 = 44313

1 104+ .28 = 3.7142 1 1.35+ 22 = 6.1963

12 2.54 .28 = 9.071/ 12 5.54 + 1.04 = 5.5269

13 4.13 + 51 = 8.0980 13: 3.99 + .35 = 11.4000

1 2,28+ .82 = 2.7804 14 35+ .27 = 1.2962

15 5.66 + .36 = 15.7222 15 147 + .98 = 1.5000

16 2,11+ .35 = 6.0285 16 5.58 + .25 = 22.9200

17, .24+ 35 = 6857 17 5.87 + .24 = 2/.4583

15 5.02+ 51 = 9.8431 15 1.23 + .85 = 1.4470

19: 4.95 + .26 = 19.038} 19 4.73 + 91 = 5.1978

2. 5.08 + .69 = 7.3623 2. .22 = .60 = .3666

o1 27+ .72 = 3750 o1 1.27 + .62 = 2.0483

2 4.15 + .01 = 415.0000 22, 62 + .36 = 1.7222

2: 2.01 + .36 = 5.5833 23, 15 + .96 = .1562

2: .88+ .21 = 13.7142 2. 4.40 + 37 = 11.8918

25 3.57+ .74 = 4.8243 25 2.62+ .32 = 8.1875
div_0.00to5.00-0.01t00.05 div_0.00t05.00-0.01t00.05
019 7 September 2014 18
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Question 37 |25 marks] Question 38 |25 marks]

0: 5.11 = .70 = 7.3000 0: 4.46 = .84 = 5.3095

1221+ .92 = 24021 1 155+ .22 = 7.045/

2 115+ 48 = 2.3958 2 121+ 84 = 1.4404

3. 147+ .04 = 36.7500 3 522+ 44 = 11.8636

1 516+ 1.03 = 5.0097 & 135+ .64 = 2.1093

5 540 + .80 = 6.7500 5 1.05+ .42 = 2.5000

6 5.66 + 1.03 = 5.4951 6 .64+ .10 = 6.4000

7. 5.00 .79 = 6.9291 7. .09+ .06 = 1.5000

s 4.08 .29 = 14.0689 5 5.95+ .04 = 148.7500

0 1.36 + .93 = 1.4623 0. 374+ .70 = 5.3428

10 3.97 + 57 = 6.9649 10 3.63 + 43 = 8.4418

1: 5,05+ .50 = 10.1000 1 4.98 + 84 = 5.9285

12 1.58 + .97 = 1.6288 12 3.42 + 55 = 6.2181

13 3.45 + 14 = 2/.6428 13 3.88 + .86 = 4.5116

1 2,75+ .39 = 7.0512 14 5.53+ 52 = 10.6346

15 85+ .54 = 1.5740 15 248 + .97 = 2.5567

16: .79 + .05 = 15.8000 16 3.82 + 1.04 = 3.67530

17 1.04 + .78 = 1.3333 17 311+ .98 = 3.173

15 5.06 + .08 = 63.2500 18 3.77+ .71 = 5.3098

19: 2.93 + .10 = 29.3000 19 4.14 + 84 = /.9285

20, 2.87 + .38 = 7.5526 20 1.94 + .66 = 2.9393

21, .76 < .10 = 7.6000 o1 5.84 + 21 = 27.8095

2: 2.25 + 84 = 2.6785 2. 4.24 + 83 = 5.1084

2: 4.43 + .36 = 12.3055 2. 3.30 + .22 = 15.4090

21 153+ .01 = 15.0000 21: 2.30 + .89 = 2.5842

25 4.97 + 54 = 9.2037 25 1.30 + .55 = 2.3636
div_0.00to5.00-0.01t00.05 div_0.00t05.00-0.01t00.05
019 7 September 2014 19
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Question 39 |25 marks] Question 40 [25 marks]

0. .15+ .46 = .3260 0: 49 + .19 = 2.5789

1434+ 38 = 11.4210 10 1,03+ .98 = 1.0510

2 218+ .77 = 2.8311 2 3.80 + .51 = 7.627

3 275+ .73 = 3.7671 3 11+1.04 = 1057

4 A2+ 46 = 9130 & 543+ .06 = 90.5000

5 .26+ .50 = 5200 5 288+ .58 = £.9655

6 5.57 + .85 = 6.5529 6 3.00 <+ 45 = 6.6666

7. 3.07+ .17 = 18.0588 7. 414+ .24 = 17.2500

s 2.03+.99 = 2.0505 5 .70+ .83 = 8433

0. 219+ .82 = 2.6707 9. 3.57 .50 = 6.0508

10 1.30 .62 = 2.0967 10 419 + 51 = 8.2156

1 98+ .65 = 1.5076 1 545+ 42 = 12.9761

12 3.72+ .10 = 37.2000 12 4.40 + .75 = 5.8666

13 5.04 + .84 = 6.0000 13 1.16 + .32 = 3.6250

11: 2.80 + .87 = 3.2183 14 1.60 .13 = 12.3076

15 4.16 + .89 = £.6741 15 5.59 + .63 = 8.8730

16: 2.87 + .75 = 3.8266 16 3.13 + 1.02 = 3.0686

17, 4.79 + .26 = 18.4230 17 5.22+ .59 = 8.8474

15 1,04+ .78 = 1.3333 15 5.40 + .32 = 16.8750

19: .83 + .05 = 16.6000 19: 3.77 + .07 = 53.8571

20: 1.55 + .37 = 4.1891 20 .53 =+ 1.04 = 5096

21 2.80 + .27 = 10.7037 o1 417 + 87 = 47931

22 5.81+ .88 = 6.6022 22 2.97 + 1.00 = 2.9700

23 5.78 + .83 = 6.9638 23 5.70 + 45 = 12.6666

21 1.87 + .85 = 2.2000 21: 2.34 +1.00 = 2.3400

25 155+ AT = 3.2978 25 172+ 46 = 8.7391
div_0.00t05.00-0.01t00.05 div_0.00t05.00-0.01t00.05
019 7 September 2014 20
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Question 41 |25 marks]

0: 7.24 + .18 = 40.2222
1 5.26 + .54 = 9.7407

2 7.99 + .74 = 10.7972
3. 14.55 + .99 = 1/.6969
4 14.91 = 91 = 16.3846
5 3.66 .22 = 16.6563
6: 7.60 + .22 = 8/.5/54
7 13+ 56 = .2321

s 12.57 = 48 = 26.1875
o: 13.20 + .26 = 50.7692
10: 11.67 = A7 = 24.8297
11: 6.25 + .04 = 156.2500
12: 2.74 = .68 = 4.029/
13: 2.37 = 1.03 = 2.3009
14 2.38 — AT = 5.0638
15: 6.84 + .66 = 10.3656
16: 9.85 = .48 = 20.5208
17 8.76 + .27 = 32.4444
18 .23 + .10 = 2.3000

19: 2.33 = .24 = 9.7083
20: 9.36 = .05 = 187.2000
o1 3.97 — 22 = 18.045
22: 10.24 + .77 = 13.2987
23 7.17 + 1.00 = 7.1700
o1 57+ .84 = 6785

25: 8.38 + .27 = 31.0370

div_0.00to14.40-0.01t00.12

Question 42

0:

1

2:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

25 marks|

9.51 + .73 = 13.0273
451 = .12 = 37.5833
6.65 = .78 = 8.5256
5.05 = .81 = 6.2945
12.93 + .90 = 14.3666
11.63 + .36 = 32.3055
14.24 = 1.02 = 15.9607
15.32 + .76 = 20.1578
14.25 + .38 = 37.5000
2.35 + .20 = 11.7500
11.25 + .79 = 14.2405
5.15 = 42 = 12.2619
13.43 + .13 = 105.5076
10.30 + .81 = 12.7160
4.42 = A4 = 10.045)
13.36 + .52 = 25.6923
10.73 + .58 = 18.5000
24+ A7 = .5106

3.24 = A48 = 6.7500
16+ .35 = 4571
13.37 + .87 = 15.9678
10.12 = .84 = 12.0476
9.78 = .24 = 40.7500
6.44 = .04 = 161.0000
13.98 + 1.05 = 15.5142

AT+ 1.06 = 4433

div_0.00to14.40-0.01t00.12

019

7 September 2014 21



Dec-MulDiv-L1 Answers Setl
Question 43 |25 marks] Question 44 |25 marks]

0 11.95 + .69 = 17.3188 0 11.42 + .64 — 17.8437

1 1,06+ .51 = 2.0784 1 15.07 + .14 = 107.6428

2 744+ .62 = 12.0000 2 14.69 + .03 = 489.6666

5 13.75 + .29 = 47.4137 3 211+ .30 = 7.0333

1 13.68 .38 = 36.0000 £ 10.30 .65 = 15.8461

5 13.97 + .84 = 16.6309 5 1.62 + .61 = 2.6557

6 13.95 + 1.07 = 13.0373 6 1148 + .94 = 12.2127

7. 10.68 + .37 = 28.8648 7. 3.85+ .02 = 192.5000

s 210 + .55 = 3.8181 5 6.80+ 1.02 = 6.7549

0. 2.80 <+ .28 = 10.0000 0. 11.75 + 21 = 55.9523

10 .68 + .23 = 2.9565 10 4.13 + .06 = 68.8333

1 5.39+ .69 = 7.8115 1 942+ 87 = 10.8275

12 9.70 + 1.10 = 8.8181 12 8.27 + .97 = 8.5257

13 13.98 + 1.03 = 13.5728 13 12,16 + .32 = 38.0000

11 1.60 + .50 = 3.2000 14 10.62 + .94 = 11.2978

15 3.90 + .24 = 16.2500 15 1.60 + .56 = 2.8571

16 13.29 = .76 = 17.4868 16 13.49 + .52 = 25,9423

17 5.06 + .73 = 6.9315 7. 14.38 = .58 = 24.7931

15 1.07 + .94 = 1.1982 15 1.33 + 52 = 2.5576

10 2.52 .62 = 4.0645 19: 12,88 + .57 = 22.5964

20 13.17 + .99 = 13.3030 20 3.11+ 1.05 = 2.9619

o1 5.31 = .46 = 11.543/ o1 5,11+ .31 = 16.4838

2: 63+ L11 = 5675 22 .60 + .61 = .9836

2. 12.21 + 49 = 2/.9183 23 11.64 = .36 = 52.3333

2: 1.33+ .04 = 83.2500 21: 6.39 + .21 = 30.4285

25: 8.22 % .66 = 12.4545 25 .73+ T4 = 10.4459
div_0.00to14.40-0.01t00.12 div_0.00to14.40-0.01t00.12
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Question 45 |25 marks] Question 46 |25 marks]

0: 7.36 = .87 = 8.4507 0 4.63 .39 = 11.8717

1 6.18 .70 = 8.8285 10 4.62 .93 = 4.9677

2 13.60 = .61 = 22.2950 2 6.82 .20 = 34.1000

3. AL+ .01 = 41.0000 3 12.80 + .60 = 21.3933

4 117+ 1.10 = 1.0636 & 701+ .33 = 21.5/5)

5 779+ .98 = 7.9489 5 6.04+ .96 = 6.2916

6 7.40 < .25 = 29.6000 6 13.54 + .65 = 20.8307

7. 10.65 + .84 = 12.6785 7. 5.87 < .16 = 36.6875

s 31+ .74 = 4189 5 8.11+ .62 = 13.0806

0. 5.81 + .39 = 14.897 0. 5.6+ .51 = 11.1568

10 8.38 + .95 = 8.8210 10 13.50 = .06 = 225.0000

1 3.83+ .72 = 5.3194 1 1519 + 1.04 = 14.6057

12 9.19 + .04 = 229.7500 12 14.78 + A1 = 36.0487

13 6.17 + .07 = 88.1428 13 5.82 + .15 = 38.8000

14: 18 + .08 = 2.2500 14 12,44 + 55 = 22.6181

15 2.45 + .09 = 27.2222 15: 12,26 + .67 = 18.2985

16 5.82+ .95 = 6.1263 16: 9.13 + .80 = 11.4125

17, 6.42 + .87 = 7.3793 17. 773+ .64 = 12.0781

15 3.68 + .31 = 11.8709 15 10.19 + .89 = 11.4494

19 8.19 + 29 = 28.2413 19: 12,57 + .66 = 19.0454

20: 10.96 + .11 = 99.6363 20. 4.48 + 46 = 9.7391

o1 13.77 + 46 = 29.9347 o1 2.05 = 1.01 = 2.0297

2: 8.73 + 54 = 16.1666 22 9.98 + .24 = 41.5833

25 10.21 + .94 = 10.8617 23 13.58 =+ 18 = 75.4444

21 9.29 = 17 = 54.6470 21 1314+ .71 = 18.5070

25 4.87+ 61 = 7.9836 25: 4.06 <+ 1.01 = 4.0198
div_0.00to14.40-0.01t00.12 div_0.00to14.40-0.01t00.12
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Question 47 |25 marks]

0: 9.49 = .77 = 12.3246

1 6.17 % .75 = 8.2260

2: 10.84 = 1.05 = 10.3238
3 6.27 + .68 = 9.2205

4: 1242 + 81 = 15.3333
5 1.76 + .82 = 2.1463

6: 2.91 +.76 = 5.8289

7. 6.15+ .94 = 6.5425

8: 12.74 +1.07 = 11.9065
9: 847+ .44 = 19.2500
10: .23 + .28 = 18.6785
11: 8.03 % .93 = 8.6344

12: 11.34 + .78 = 14.5384
13: 9.37 =+ .74 = 12.6621
14: 2.87+1.06 = 2.7075
15: 4.31 = 1.11 = 3.8828
16: 5.46 = .14 = 39.0000
17: 4.52 =+ .50 = 9.0400

18: 6.31 = .76 = 8.3020

19: 13.77 + .13 = 105.9250
20: 10.25 + .92 = 11.1413
21: 5.98 + .62 = 9.6451

22: 9.30 = 1.05 = 8.8571
23: .61 = .31 = 1.9677

24: 6.64 + .61 = 10.8852

25: 1.45 + .84 = 1.7261

div_0.00to14.40-0.01t00.12

0: 3.44 + .28 = 12.2857
1 5.03 = 1.06 = 4.7452
2 9.87 + .33 = 29.9090
5 3.76 + .32 = 11.7500
4 88+.00 = 9.7777

5 1.21 + .44 = 2.7500

6: 1.99 = 87 = 2.2873

7 10.14 = .62 = 16.558
s 11.24 = .14 = 80.2857
o: 11.72 + .40 = 29.3000
10: 3.27 = .61 = 5.3606
11: 13.69 = .29 = /7.2068
12: 2.37 = .40 = 5.9250
13: 2.72 + .45 = 6.044/
14 15.14 = .32 = 47.9125

15: 2.42 + 91 = 2.6593

16: 15.27 +1.07 = 14.2710

17: 15.17 + .36 = 42.1388
18: 11.39 + .67 = 17.0000
19: 8.75 + .98 = 8.9285
20: 6.20 + .51 = 12.1568
21: 5.18 .71 = 7.2957
22: 7.19 + .36 = 19.9722
23: 9.13 + .50 = 18.2600
24: 8.93 =+ .23 = 38.8260

25: 1.03 + .38 = 19.8157

div_0.00to14.40-0.01t00.12

Question 48 [25 marks]
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